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Fhk - RO [IEERREL]

2 RiwiRi

x1 RERB AR

WarvAsTa—

BEEROT (%) FEEE (%) TRH (%)
e B 1,303 1,119 (85.9) 178 (13.7) 6 (0.5)
(10 % 1,239 935 (75.5) 287 (23.2) 17 (1.4)
H 2,542 2,054 (80.8) 465 (18.3) 23 (0.9)
AR B 1 1 (100.0) 0 (0.0) 0 (0.0)
(1) % 1 1 (100.0) 0 (0.0 0 (0.0)
B 2 2 (100.0) 0 (0.0 0 (0.0)
&R B 1,304 1,120 (85.9) 178 (13.7) 6 (0.5)
(1K) % 1,240 936 (75.5) 287 (23.1) 17 (1.4)
H 2,544 2,056 (80.8) 465 (18.3) 23 (0.9)
P : HDLza2LVAXTu—) LDLavZx7u—)
HEZROT (%) HE@E (%) i (%) HEZZEO0T (%) EEE (%) PikikE (%)
CIE I 619 609 (98.4) 10 (1.6 0 (0.0) 575 (92.9) 44 (7.1 0 (0.0)
(31%) % 612 603 (98.5) 9 (1.5 0 (0.0 533 (87.1) 75 (12.3) 4 (0.7)
At 1.231 1,212 (985) 19 (1.5) 0 (0.0) 1,108 (90.0) 119 (9.7) 4 (0.3)
& F B 619 609 (98.4) 10 (1.6 0 (0.0) 575 (92.9) 44 (7.1 0 (0.0)
(31%) % 612 603 (98.5) 9 (1.5 0 (0.0 533 (87.1) 75 (12.3) 4 (0.7)
At 1.231 1,212 (985) 19 (1.5) 0 (0.0) 1,108 (90.0) 119 (9.7) 4 (0.3)
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